
MAEC – 02 

Economic Theory – II 

Max Marks: 80         Time: 3 hour 

Give your answers:- 

1. What in the relationship between GDP and Unemployment? 

GDP ,oa csjkstxkjh ds e/; D;k laca/k gS \ 

 

2. How can economic growth be measured? 

vkfFkZd lao`f} dks dSls ekik tk ldrk gS \ 

 

3. Why is it important to study investment? 

fofu;ksx dk v/;;u D;ksa vko’;d gS \ 

 

4. What in the relationship between APC and MPC? 

APC ,oa MPC ds e/; D;k laca/k gS \ 

 

5. Define Permanent Income? 

^^LFkk;h vk;^^ dks ifjHkkf"kr dhft,A 

 

6. What are the determinants of the money supply in an economy? 

,d vFkZO;oLFkk esa eqnzk dh iwfrZ ds fu/kkZjd rRo dkSu ls gksrs gSA 

 

7. Define Bond? 

^^ck.M^^ dks ifjHkkf"kr dhft,A 

 

8. Has the availability of credit and facilities reduced the transactions demand for money? 

D;k ØsfMV dkMZ lqfo/kkvksa dh miyC/krk ls ysunsu gsrq eqnzk dh ekax esa deh vkbZ gS \ 

 

9. Does money supply in sensitive to changes in the rate of interest? Give persons. 

D;k eqnzk dh iwfrZ C;kt nj esa ifjoZru ds izfr laosnu’khy gksrh gS] Li"V dhft,A 

 

10. Define high powered money? 

mPp 'kfDr eqnzk dks ifjHkkf"kr djksaA 

 

11. Draw proportional consumption function? 

vkuqikfrd miHkksx Qyu dk js[kkdau dhft;sA 

 



12. Are transfer payment of capital gain included in national income? Give reason? 

D;k gLrkUrj.k Hkqxrku ,oa iw¡thxr YkkHk jk"Vªh; vk; esa lfEefyr fd, tkrs gS \ dkj.k Li"V 

dhft,A 

 

13. Show that APC exceeds MPC? 

n'kkZb;s fd APC, MPC ls vf/kd gksrk gSA 

 

14. Define precautionary „Demand for Money‟? 

^^eqnzk dh ,gfr;krh ek¡x^^ Li"V dhft,A 

 

15. What determiner money Multiplan? 

eqnzk xq.kd ds fu/kkZjd dkSu & ls gS \ 

 

16. “GDP is a misleading measure of material well being” in this true? How? 

^^ GDP HkkSfrd dY;k.k dk Hkzked eki gS^^A D;k ;g Qyu lgh gS \ dSls \ 

 

17. Investment depends on the real interest rate and not on the minimal interest rate. Why? 

fofu;ksx ekSfnzd C;kt nj ij ugha cfYd okLrfod C;kt nj ij fuHkZj djrk gSA D;k \ 

 

18. If the MPC <APC what kind of relationship in found between consumption and 

disposable income? 

;fn MPC<APC gks] rks miHkksx ,oa [kpZ ;ksX; vk; ds e/; esa dSlk laca/k ik;k tkrk gS \ 

 

19. Why is there a speculative demand for money? 

eqnzk dh lV~Vk mns’; ek¡x D;ksa gksrh gS \ 

 

20. Is pension payment to retired employee included in national income? Why? 

D;k lsokfuo`Rr deZpkjh dks fd;k tkus okyk is’kau Hkqxrku jk"Vªh; vk; esa lfEefyr gksrk gS \ 

D;ksa \ 

 

21. What is the relationship between the price level and the real money supply? 

okLrfod eqnzk iwfrZ ,oa dher Lrj ds e/; D;k laca/k ik;k tkrk gS \ 

 

22. Differentiate between classical and Keynesian money demand function? 

izfrf"Br ,oa dsfUl;u eqnzk ek¡x Qyu esa Hksn Li"V dhft,A 

 

23. What are the `components of money supply? 

eqnzk iwfrZ ds la?kVd rRo dkSu ls gS \ 

 

 



24. Define net investment? 

fo’kq} fofu;ksx dks ifjHkkf"kr dhft,A 

25. Define personal disposable income? 

O;fDrxr [kpZ ;ksX; vk; dks ifjHkkf"kr dhft,A 

 

26. Differentiate between stock and flow valuable? 

LVkWd ,oa izokg pjks esa varj Li"V dhft,A 

 

27. What do you mean by ratio valuable? 

vuqikr pj ls vki D;k le>rs gS \ 

 

28.  Define “ratchet effort”? 

vfuorhZ izHkko dks Li"V dhft,A 

 

29. Differentiate between GNP and NBP? 

GNP ,oa NDP ds e/; varj Li"V dhft,A 

 

30. How many type of consumption hypothsis are there? 

miHkksx ifjdYiuk,¡ fdrus izdkj dh gksrh gS \ 

 

31. What do you understand by Keynes psychological law? 

^^dhUl ds eukSoSKkfud fu;e^^ ls vki D;k le>rs gS \ 

 

32. Define ISLM curve? 

IS-LM oØks dks ifjHkkf"kr dhft,A 

 

33. What are the three range of CM curve? 

CM oØ dh rhu Jsf.k;k¡ dkSu&lh gS \ 

 

34. What is absolute income hypothesis?  

^^fujos’k vk; ifjdYiuk^^ D;k gS \ 

 

35. In which accounts of National income following items are entered (a) undistributed (b) 

depreciation (c) statistical discrepancy (d) Net interest  

fuEu ens jk"Vªh; vk; ds dkSu ls [kkrks esa izfo"V dh tkrh gS% v vforfjr ykHk c ewY; 

gkl l lkaf[;dh; fMlfØisUlh n 'kq} C;kt 

 

 

 



36. Define paradox of thrift? 

cpr ds fojks/kkHkkl dks ifjHkkf"kr dhft,A 

 

37. What is the different between market prices and factor prices? 

cktkj dherks ,oa lk/ku dherks esa D;k varj gS \ 

 

38. What in GDP and GNP? Explain their different. 

GDP ,oa GNP D;k gS \ nksuks esa varj Li"V dhft,A 

 

39. What are the methods of meaning national income? 

jk"Vªh; vk; dks ekius dh dkSu&lh fof/k;k¡ gS \ 

 

40. What are real and nominal quantities? 

okLrfod ,oa ekSfnzd ek=k,¡ D;k gS \ 

 

41. Define GDP deflator. 

GDP viLQhfodkjd dks ifjHkkf"kr dhft,A 

 

Section B 

Short answer type question (4*8=32) 

 

1. What is „new‟ in both the new classical model and new Keynesian model? 

uo izfrf"Br ekWMy ,oa uo dsfUl;u ekWMy esa ^u;k^ D;k gS \ 

 

2. Compare the equation of exchange with the Cambridge equation? 

lkSnk lehdj.k dh rqyuk dSfEczt lehdj.k ls dhft,A 

 

3. The „Q theory‟ explain the linte between fluctuation in investment and the stock mouleet. 

Comment? 

^Q fl}kar^ LVkWd cktkj ,oa fofu;ksx esa mrkj & p<+ko ds e/; laca/k dks Li"V dhft,A 

fVIi.kh dhft;sA 

 

4. C = 40 + 0.80 4  Tx = 20 

I = 60 

G = 20 

Calculate (a) equilibrium level of income  

The new equiblrium level if investment falls by Rs. 10   

;fn C = 40 + 0.80 4, I = 60, G = 20, Tx = 20 gks rks u;k lkE; Lrj 

(a) lkE; vk; Lrj  

(b) ;fn fofu;ksx esa 10 :i;s dh fxjkoV gks] rks u;k lkE; Lrj 



5. Explain Keynesian saving function? 

dsUts;u cpr Qyu dks le>kb;sA 

 

6. What is the relation between liquidity preference and the rate of interest? 

rjyrk ilanxh ,oa C;kt nj esa D;k laca/k ik;k tkrk gS \ 

 

7. List four reasons why firms might hold inventories. 

QeksZ ds bUosUVjh j[kus ds pkj dkj.k crkb,A 

 

8. What are the determinants of real money demand according to the portfolios theory? 

okLrfod eqnzk ekax ds fu/kkZjd dkSu ls gS \ 

 

9. Explain the concept of tobin‟s Q. how does it link the stock market with investment in an 

economy? 

Vksfcu dh qD;w vo/kkj.k Li"V dhft,A ,d vFkZO;LFkk esa ;g /kkj.kk fofu;ksx dks fdl izdkj 

LVkWd cktkj ls tksM+rh gS \ 

 

10. Explain how to supply of money in related to the stock of high powered money? 

eqnzk dh iwfrZ mPp 'kfDr eqnzk ds LVkWd ls fdl izdkj ls lacaf/kr gS \ Li"V dhft,A 

 

11. Explain why spending on GDP in equal to income earned from producing GDP? 

GDP ij O;; GDP dks mRikfnr djus ij izkIr vk; ds cjkcj D;ksa gksrk gS \ Li"V dhft;sA 

 

12. Why is hosing especially important in the economy‟s response to a low- interest rate 

policy? 

vFkZO;oLFkk esa fuEu C;kt nj uhfr dh izfrfdz;k esa vkokl fo’ks"k :Ik ls egRoiw.kZ D;ksa gksrk gS\ 

 

13. Explain macro economic variables national income investment and interest rate. 

lef"V vkfFkZd pj & jk"Vªh; vk;] fofu;ksx ,oa C;kt nj dks foLr`r dhft,A 

 

14. Comment on problem of aggregation in the construction of macroeconomic variables? 

lef"V vkfFkZd pjksa ds fuekZ.k esa lexqrk dh leL;k ij fVIi.kh dhft,A 

 

15. What are some of the important variables that constitute the subject matter of macro 

economics? How macro economics feffer form microeconomics? 

lef"V vFkZ’kkL= dh fo"k;oLrq dks xfBr djus okys izeq[k pj dkSu ls gS \ 

 

16. lef"V vFkZ’kkL= fdl izdkj O;f"V vFkZ’kkL= ls fHkUu gS \ 

 



17. Why is GNP measured in valure added trems rather than as total sales? 

GNP dks dqy fcdzh ds :Ik esa u uki dj ewY; o`f} ds :i esa D;ksa ekik tkrk gS \ 

 

18. What is the most important difference between the classical and Keynesian the orier of 

money demand? 

eqnzk ek¡x ds izfrf"Br ,oa dsUts;u fl}karks esa lcls izeq[k varj D;k gS \ 

 

19. What are the important components of money supply? Explain. 

eqnzk iwfrZ ds izeq[k la?kVdks dh foospuk dhft,A 

 

20. How does tobin‟s theory differ from Keynes formulation of the asset demand for money? 

eqnzk dh ifjlEifRr ek¡x ds Vksfcu fl}kar vkSj dsUts;u fu:i.k esa D;k vUrj gS \ 

 

21. What are the main determinants of money supply comportments? 

eqnzk iwfrZ ds la?kVdksa ds fu/kkZjd rRo dkSu ls gS \ 

 

22. Can macro- economic relationship be obtained by merely aggregating the micro 

relationship? Why or why not? 

D;k lef"V vFkZ’kkL=h; lEc/k ek= O;f"V lEcU/kksa ds ;ksx ls izkIr fd;s tk ldrs gS \ D;ks 

vFkok D;ks ugha \ 

 

23. Explain Milton friedman‟s money demand function? 

feYVu QzhMeSu ds eqnzk ek¡x Qyu dks Li"V dhft,A 

 

24. Elucidate Baumal‟s inventory the theoretic approach regarding „money-demand‟? 

eqnzk ek¡x ds lanHkZ esa fofy;e ckWeksy ds bUosUVªh lS}kfUrd nqf"Vdks.k dks Li"V dhft,A 

 

25. What are the assumptions of classical model of determination of employment and output? 

mRiknu ,oa jkstxkj fu/kkZj.k ds Dykfldy ekWMy dh vk/kkjHkwr ekU;rk,¡ dkSu&lh gS \ 

 

26. Define quantity theory of money? 

eqnzk ds ifjek.k fl}kar dks Li"V dhft,A 

 

27. Write a short note on tobin‟s money demand theory? 

VkWfcu ds eqnzk ek¡x fl}kar ij laf{kIr fVIi.khA 

 

28. Explain Hick‟s model of trade cycle? 

fgDl ds O;kikj & pdz ekWMy dks Li"V dhft,A 

 

 



29. How `effective monetary policy will be if speculative demand for money varies? 

eqnzk dh lV`k ek¡x ds ifjoZru’khy gksus ij ekSfnzd uhfr dh izHkko’khyrk dks Li"V dhft,A 

 

30. The supply of money in a monetary policy instrument” examine the validity of this 

statement? 

^^eqnzk iwrhZ ekSfnzd uhfr dk ,d lk/ku gS^^A bl dFku dh oS/krk dh tk¡p dhft,A 

 

31. Explain how the neo-classical rule of profit. Maximisation can be applied to find out the 

optimal capital stock of a firm? 

,d QeZ dk vuqdwyre iw¡th LVkWd Kkr djus ds fy, ykHk vf/kdre djus ds uo izfrf"Br 

fu;e dks mi;ksx fdl izdkj fd;k tk ldrk gS \ Li"V dhft,A 

 

32. What are the major short comings of the Keynesian theory of speculative demand for 

money? 

dhUl ds ^^eq}k dh lV`k ek¡x fl}kar^^ D;k D;k dfe;k¡ gS \ 

 

33. Explain life cycle hypothesis? 

thou pØ ifjdYiuk dks Li"V dhft,A 

 

34. Elucidate circular flow of national income? 

jk"Vªh; vk; ds pØh; izokg dks Li"V dhft,A 

 

35. Write a short note on balanced budget multiplier? 

larqfyr ctV xq.kd ij laf{kIr fVIi.kh dhft,A 

 

36. Explain instruments of monetary policy? 

ekSfnzd uhfr ds midj.k dkSu & ls gS \ 

 

37. Write short note on Philips curve? 

fQfyIl odz ij laf{kIr fVIi.kh dhft,A 

 

38. Explain samuelson theory of trade cycle? 

lsE;wvylu ds O;kikj pdz fl}kar dks Li"V dhft,A 

 

39. In a two sector model 

C=60+0.08 

I= 116-2r 

M=120 

L=0.204-5r 

(i) write the equations for the IS and LM schedules. 



(ii) Find the equklibrium valure for income and the interest. 

,d f}{ks=h; izk:i esa%  

C=60+0.08 (i) IS ,oa LM vuqlwph ds fy, lehdj.k Kkr dhft;sA 

I= 116-2r (ii) lkE; vk; ,oa lkE; C;kt nj ds eku Kkr dhft;sA 

M=120 

L=0.204-5r 

 

40. Differentiate between cash transaction and cash balance approach of Quantity theory of 

money? 

eqnzk ifjek.k fl}kar ds udn lkSnk ,oa udn 'ks"k n`f"Vdks.k ds e/; varj Li"V dhft,A 

 

Section C 

        Long question:- (2*16=32) 

 

41. Explain how baumol- tabin analysis attempts to remove the shortcomings of Keynesian 

theory of speculative demand for money? 

cksekWy & VkWfcu dk fo’ys"k.k fdl izdkj dhUl ds ^eqnzk ds lV`k ek¡x fl}kar^ dh dfe;ks dks 

nwj djus dk iz;kl djrk gS \ foLr`r dhft,A 

Or 

Explain classical model of employment and output? 

 mRiknu ,oa jkstxkj ds Dykfldy fl}kar dks Li"V dhft,A 

 

42. Explain circular flow of income for a four sector economy? 

,d pkj {ks=h; vFkZO;oLFkk esa vk; ds o`Rrkdkj izokg dks Li"V dhft,A 

Or 

Explain the essential elements of the life cycle hypothesis. What are its implications for 

the effectiveness of fiscal policy actions? 

thou pdz ifjdYiuk ds izeq[k rRo Li"V dhft,A jktdks"kh; uhfr dh izHkko’khyrk gsrq bl 

ifjdYiuk ds D;k vk’k; gS \ 

 

43. Explain how do the permanent income and relative income hypothesis reconcile the 

confliction evidence from the cross section and time series studies? 

LFkk;h vk; ,oa lkis{k vk; ifjdYiuk fdl izdkj dky Js.kh vkSj vuqizLFk dkV v/;;u ds 

ijLij foijhr izek.kksa esa lketL; cSBkrs gS \ 

 

Or 

Explain the meaning and working of accelerator what are its limitations? 

^Rojd dk vFkZ ,oa bldh dk;Ziz.kkyh le>kb;sA bldh D;k lhek,¡ gS \ 



 

44. Discuss post-keynesion their of money demand with special reference to baumol‟s 

inventory theoretic approach? 

eqnzk ek¡x ds dsUtkRrj fl}karks dh ppkZ ckWeksy ds bUosUVjh n`f"Vdks.k ds fo’ks"k lanHkZ esa 

dhft,A 

 

Or 

Critically examine permanent income hypothesis? 

LFkk;h vk; ifjdYiuk dk vkykspukRed ewY;kadu dhft,A 

 

45. Compare and contrast salient feature of Neo-classical theory and Neo-Keynesion theory 

of investment? 

fofu;ksx ds uo izfrf"Br fl}kar ,oa uo & dsUts;u fl}kar dh ijLij rqyuk dhft;s ,oa varj 

crkb;sA 

Or 

How does Tobin‟s theory differ from Keynes‟ formulation of the asset demand for 

money? In what respects are both theories similar? 

eqnzk dh ifjlEifRr ek¡x ds Vksfcu fl}kar vkSj dsUts;u fu:i.k esa D;k varj gS \ Vksfcu vkSj 

dsUts;u fl}karksa esa lekurk dk vk/kkj D;k gS \ 

 

46. Make a article evaluation of Milton freedman‟s restatement of the quantity theory of 

money. In what sense it in a theory if demand for money? 

feYVu QzhMeSu ds eqnzk ifjek.k fl}kar dh iquO;k[;k dk vkykspukRed ewY;kdau dhft,A fdl 

vFkZ esa ;g eqnzk ekax dk fl}kar gS% 

Or 

 Enumerate the „cash Balance‟ approach of quantity theory of money? 

eqnzk ifjek.k fl}kar ds ^udn 'ks"k n`f"Vdks.k^ dh O;k[;k dhft,A 

 

47. How the equilibrium levels of employment real wage output, price-level and money wage 

are determined in the classical model without sawing and investment? How  these leads 

will be effected of supply of laboun in increased? Show the aggregate demand curve for 

this model. Explain with the help of diagrams and equations. 

cpr ,oa fofu;ksx jfgr vFkZO;oLFkk esa] Dykfldy ek¡My esa jkstxkj] okLrfod etnwjh] 

mRiknu] dher Lrj ,oa ekSfnzd etnwjh ds lkE; Lrj dSls r; gksrs gS \ Je dh iwfrZ c<+us ij 

;s Lrj fdl rjg izHkkfor gksxsa \ bl ekWMy ds fy, leLr ek¡x oØ n’kkZb;sA leqfpr 

js[kkfp=ksa ,oa lehdj.kksa dh lgk;rk ls O;k[;k dhft;sA 

Or 

Explain Keynesian theory of employment and income determination? 

dhUl ds jkstxkj ,oa vk; fu/kkZj.k fl}akr dks Li"V dhft,A 

 



48. In a Keynesian model of income determination: 

              C=15+.754d 

  I=32 

  G=50 

  (R) Transfer payment = 10.66 

  Tg(gross-taxer) = 4+.24 

(i) Find the eainb level of income. What will be the value of C?  

(ii) If the fill employment level of 4 in 280 at the existing price level suppose 

expansion of output to the full employment level will not raise the 

price level how this full employment level of output may be achieued 

by: (a) increasing G (B)  reducing manginal tax rate (t) (c) increasing 

G (when G=T) and T+Tg-R 

vk; fu/kkZj.k ds dsaft;u ekWMy esa%  

              C=15+.754d 

  I=32 

  G=50 

  (R) Transfer payment = 10.66 

  Tg (ldy dj izkfIr) = 4+.24 

(i) vk; dk lkE; Lrj crkb;sA miHkksx dk ewY; fdruk gksxkA  

(ii) ;fn iw.kZ jkstxkj Lrj dh vk;] fo|eku dher Lrj ij 280 gks] eku yk iw.kZ jkstxkj 

mRiknu dk foLrkj] dher Lrj dks ugha c<+k;sxk rks iw.kZ jkstxkj ds mRiknu dks 

dSls izkIRk fd;k tk ldrk gS \   

(a) G dks c<+kdj  (b) dj dh lhekar nj (t) dks ?kVkdj  

(b) G dks c<+kdj tcfd G = T ,oa T = Tg – R 

 

Or 

Write a short note on following: -  

(a) Determination of Eq‟b level of income in a simple two sector closed economy. 

(b) Psychological law of consumption by keynes 

fuEufyf[kr ij fVIi.kh fyf[k,A 

(a) ,d ljy f}{ks=h; can vFkZO;oLFkk esa vk; ds lkE; Lrj dk fu/kkZj.k  

(b) dhUl dk miHkksx dk euksoSKkfud fu;e 

 

47. Explain absolute income hypothesis of consumption? 

fujis{k vk; miHkksx ifjdYiuk dks Li"V dhft,A 

Or 

 



Explain relative income hypothesis of consumption? 

lkis{k vk; miHkksx ifjdYiuk dks Li"V dhft,A 

 

48. Explain the liquidity effect and output effect of monetary policy with the help of IS-LM 

curves. How these are effected by the sloper of IS and LM carver? 

IS-LM odzksa dh lgk;rk ls ekSfnzd uhfr ds rjyrk ,oa mRiknu izHkkoksa dks le>kb;sA IS-LM 

odzksa ds <+ky bUgs dSls izHkkfor djrs gSa \ 

Or 

Explain output effects of finical policy in Mundell fleming model under flexible 

exchange rate when capital mobility is imperfect? 

eq.Msy & ¶ysfeax ekWMy esa yphyh fofue; njksa dh fLFkfr esa jktdks"kh; uhfr ds mRiknu 

izHkko dks Li"V dhft;s tcfd iw¡th dh xfr’khyrk viw.kZ gS \ 

 

49. Tobin Portfolio and Baumol‟s inventory approaches to demand for money are 

improvement our Keynesian theory of demand for money. Discuss? 

eqnzk dh ek¡x dk Vksfcu dk iksVZQksfy;ks n`f"Vdks.k rFkk ckWeksy dk Hk.Mkj n`f"Vdks.k dhUl ds 

eqnzk ek¡x ds fl}akr ij lq/kkj gSA O;k[;k dhft;sA 

Or 

Differentiate between simple and complex multiplier and show that eqib income remains 

unchanged in balance budget multiplier?  

ljy vkSj tfVy xq.kd esa varj Li"V dhft, rFkk n’kkZb;s fd larqfyr ctV xq.kd esa lkE; 

vk; vifjofrZr jgrh gSA 

 

50. What do you mean by business cycle? Discuss kaldor‟s model of business cycle? 

O;kikj pdzksa ls vki D;k le>rs gSa \ dkYMksj ds O;kikj pdz ekWMy dh foospuk dhft,A 

Or 

(a) Given that:  

Production function 4 = 8N-0.05N
2
 

Loboun supply =20+5(W/P) 

Money demand = 0.5P4 

Money supply = 100 then determine eqb value of (W/P, N,4,P and W) in classical model? 
 

fn;k x;k gS%  

mRiknu Qyu  4 = 8N-0.05N
2
 

Je dh iwfrZ  =20+5(W/P) 

eqnzk dh ek¡x  = 0.5P4 

eqnzk dh iwfrZ  = 100 

rc izfrf"Br ekWMy esa lkE; W/P, N,4,P rFkk W dk eku Kkr dhft,A  

 



(b) What will be effect on eq‟b quantities determined in above pant, if money supply 

increased to 150?  

;fn eqnzk dh iwfrZ c<+kdj 150 dj nh tk;s rc mi;qZDr Hkkx (a) esa fu/kkZfjr lkE; ek=kvksa ij 

D;k izHkko iMs+xk \ 

 

 

 

51. Given that: C= 100+0.84 

      J= 150-6r 

   M
s 
= 150 

   M
d
 = .204-4r 

(i) Define IS and LM curve? (IS vkSj LM odzksa dk fu:i.k dhft,A) 

(ii) Determine eq‟B values of income and interest rate? 

vk; ,oa C;kt ds lkE; Lrjksa dk fu/kkZj.k dhft,A 

(iii) What will be effect on the slope of IS curves if MPI increased to 7? 

IS odz dh <ky ij D;k izHkko iMs+xk ;fn fuos’k dh lhekar izo`fRr c<+dj 7 gks tk;sA 

(iv)    What will be effect on the slope of IS curve if MPC decreased to 0.7? 

  IS odz dh <ky ij D;k izHkko iMs+xk ;fn miHkksx dh lhekar izo`fRr ?kVdj 0-7 gks tk,A 

 

Or 

    Write a short note on following?  

uEufyf[kr ij laf{kIr fVIi.kh fyf[k, % 

(a)  Money multiplier ( eqnzk xq.kd ) 

(b)  Rate of monetary policy in controlling inflation? 

eqnzk LQhfr dks fu;af=r djus esa ekSfnzd uhfr dh Hkwfedk  

 

52. Suppose that a nation has high unemployment rate and a deficit in its balance of payment. 

Use the flowing Mundell analysis to explain how government policy may be used to 

increased income and restore balance of payment eqb? 

ekuk ,d jk"Vª esa Å¡ph csjkstxkjh nj rFkk Hkqxrku larqyu esa ?kkVs dh fLFkfr ikbZ tkrh gSA 

¶ysfeax & eqaMsy fo’ys"k.k dk mi;ksx djrs gq, le>kb;s fd fdl izdkj ljdkjh uhfr dk 

mi;ksx djds vk; Lrj c<+k;k tkrk gS rFkk Hkqxrku larqyu esa lkE; LFkkfir fd;k tkrk gSA  

Or 

Explain how aggregate demand in determined within the classical model. What would be 

the effects on output and the price level of an increased in aggregate demand? What are 

the major policy conclusions of classical economics? 

izfrf"Br izk:Ik esa lexz ek¡x dk fu/kkZj.k dSls gksrk gS \ lexz ek¡x esa o`f} dk mRiknu vkSj 

dher Lrj ij D;k izHkko iM+sxk \ izfrf"Br vFkZ’kkL= ds izeq[k uhfrxr fu"d"kZ dkSu&ls gS \ 



53. In a simple Keynesian model an increase of one rupee in autonomous expenditure will 

cause eqb income to increased by a multiple of this one rupee increase. Explain the 

process by which this happens. Also explain why the tax multiplier in negative and 

smaller in absolute value than the government. Expenditure multiplier? 

dhUl ds izk:i esa] Lok;r [kpZ esa ,d :i;s dh o`f} ls lkE; vk; esa dbZ xquk o`f} gksrh gSA 

bl izfd;k dks le>kb;sA dj xq.kd D;ksa _.kkRed gksrk gS ,oa ljdkjh [kpZ xq.kd dh rqyuk 

esa bldk fujis{k eku NksVk gksrk gSA Li"V dhft,A 

Or 

Discuss critically Hicksian theory of trade cycle? 

fgol ds O;kikj pdz fl}akr dh vkykspukRed foospuk dhft,A 

 

54. Within the Mundell feleming model assuming perfect capital mobility analysis the efforts 

of a positive shock to money demand. Consider the effect of the shock on income when 

the exchange rate in fixed and flexible?  

eq.Msy ¶ysfeax izk:i esa iw.kZ iw¡th xfr’khyrk dks ekurs gq,] eqnzk fofue; nj vkSj yphyh 

fofue; nj dh fLFkfr esa eqnzk ek¡x esa o`f} dk vk; ij izHkko crkb;sA 

Or 

Discuss recent monetary policy of India? It is usually pointed out that inflation always 

and everywhere in a monetary phenomenon. Do you support this view? Explain? 

Hkkjr dh ubZ ekSfnzd uhfr dh foospuk dhft;sA izk;% ;g dgk tkrk gS fd eqnzkLQhfr ges’kk 

vkSj gj txg ,d ekSfnzd ?kVuk gksrh gSA D;k vki bl fopkj ls lger gS \ Li"V dhft,A 

 

55. The ands- modigliani model of consumption behavior explain all three of the observed 

consumption phenomena. In the light of this statement eluci date life cycle consumption 

hypothesis? 

miHkksx & O;ogkj dk ,sM+ks & ekWfMEY;kuh ekWMy] rhuksa voyksfdr miHkksx rF;ks dh O;k[;k 

djrk gSA bl dFku ds izdk’k esa miHkksx dh thou & pdz ifjdYiuk dks foLrkj ls 

le>kb;sA 

Or 

If C = 25+8/10 4
d
 

I = 20 

G = 26 

X = 17  

T = 25 

M= 2 1/10 Y 

Calculate x.kuk dhft,A 

(i) Foreign trade multiplier (fons’kh O;kikj xq.kd) 

(ii) Eqb level of 4 (lkE; vk; Lrj) 

 

 



56. What will be the output effect of monetary and finical policy when LM curve in vertical, 

horizontal and IS curve is vertical ? 

izfrf"Br ekSfnzd ,oa jktdks"kh; uhfr;ksa ds mRiknu izHkko D;k gksaxs tc fd LM odz mnxz gS] 

{kSfrt gS rFkk  IS odz mnxz gS \ 

Or 

 With the help of mundell flowing model show? 

eq.Msy ¶ysfeax ekWMy dh lgk;rk ls n’kkZb;s %  

(i) The effect of monetary policy action when capital mobility is important? 

ekSfnzd uhfr ds vUrxZr mBk;s x;s dne ds izHkko tc fd iw¡th dh xfr’khyrk viw.kZ gSA 

(ii) The effect of financial policy action when capital mobility is perfect? 

jktdks"kh; uhfr ds varxZr mBk;s x;s dne ds izHkko tc fd iw¡th dh xfr’khyrk iw.kZ gSA 

 

57. In the contest of national income accounting enumerate the items included in: 

jk"Vªh; vk; ys[kkadu ds lanHkZ esa fuEu esa 'kkfey dh tkus okyh enas crkb;s %   
 

(i) Business sector account 

O;olkf;d {ks= [kkrk 

(ii) Household sets account 

ikfjokfjd {ks= [kkrk 

(iii) Government sector account  

ljdkjh {ks= [kkrk 

Or 

If production f‟n is : Y = 8N-0.05N
2
  

supply of labour function is = N= 20+5 W/P 

Demand for money function is = M2 = 0.5 p4 

And supply of money is M5 = 100 

(i)  Find eqb values of N,4,P, W and W/P  

(ii) If money supply increases to 150, what will be the effect on P and W. 

what does dichotomy between monetary and real sector of economy 

mean? 

(iii) If production function charge to = 4 8-8 – o-o5N
2
 find the eqb values of 

W/P and N? 

;fn mRiknu Qyu gS% Y = 8N-0.05N
2
 

Je dk iwfrZ Qyu gS% N= 20+5 W/P 

eqnzk dk ek¡x Qyu gS = M2 = 0.5 p4 

,oa eqnzk dh iwfrZ  M5 = 100  

(i) N,4,P, W ,oa W/P ds lkE; ewY; crkb;sA 

(ii) ;fn eqnzk dh iwfrZ c<+dj 150 gks tk, rks P ,oa W ij D;k izHkko gksaxs \ 

vFkZO;oLFkk ds ekSfnzd ,oa okLrfod {ks=ks ds chp f}Hkktu dk D;k vFkZ gS \  

(iii) ;fn mRiknu Qyu ifjofrZr gksdj  



Y = 8N-0.05N
2 
gks tk, 

rks W/P ,oa N ds lkE; ewY; D;k gksxsA  

 

58. Explain in brief  

(i) William baumol‟s inventory theoretic approach regarding demand for money? 

(ii) Toben‟s analysis of demand for money an a store of wealth?  

la{ksi esa le>kb;s% 

(i) eqnzk dh ek¡x ds lanHkZ esa fofy;e ckWeksy dk bUosUVªh lS}kafrd ǹf"Vdks.kA 

(ii) Vksfcu }kjk ^/ku&lap;^ ds :i esa eqnzk dh ek¡x dk fo’ys"k.kA 

(iii)  

Or 

Explain in brief: 

(i) The factors causing upward shifting in the non proportional consumption function 

in the absolute income hypothesis of consumption? 

(ii) Ratchet effect in the Relative income hypothesis by dussenberry.  

la{ksi esa crkb;s%  

(i) miHkksx dh fujis{k vk; ifjdYiuk esa xSj vkuqikfrd miHkksx Qyu dks Åij dh vksj 

foofoZr djus okyk rRoA  

(ii) M~;wtucjh dh lkis{k vk; ifjdYiuk esa vfuorhZ izHkkoA 

 

59. What instruments of monetary policy have been used in India science last two decades? 

How far it has been successful in achieving its desired objectives on goals? 

foxr nks n’kdksa esa Hkkjr esa ekSfnzd uhfr ds dkSu & ls midj.kksa dk iz;ksx fd;k x;k gS \ 

vius okafNr y{;ksa dh izkfIr esa ;g dg¡k rd lQy gqbZ gS \  

 

Or 

  Write short note on following? 

 fuEufyf[kr ij laf{kIr fVIi.kh fyf[k,A  

(j)  Inflationary and deflating gap? 

LQhfrdkjd ,oa viLQhfrdkjd vUrjky 

(ii) Real balance effect? 

okLrfod 'ks"k izHkko 

 

60. Explain Mundell flowing model of open economy? 

[kqyh vFkZO;oLFkk ds eqaMsy & ¶ysfeax ekWMy dks le>kb;sA  

Or 

Write short notes on the following: 

fuEufyf[kr ij laf{kIr fVIi.kh fyf[k,¡A  

(i) Concepts of national income 



jk"Vªh; vk; dh /kkj.kk, 

(ii) Keynesian creticism of classical model ? 

izfrf"Br ekWMy dh dhUloknh vkykspuk,¡  

 

61. Explain the measurement methods of national income? 

jk"Vªh; vk; dks ekius dh fof/k;ksa dks Li"V dhft,A 

Or 

 Write a short on the following: 

fuEufyf[kr ij laf{kIr fVIi.kh fyf[k,¡A   

(i) Classical aggregate demand and aggregate supply function? 

Dykfldy dk lexz ek¡x ,oa iwfrZ Qyu 

(ii) Say‟s law of market?  

^lŝ  dks cktkj fu;e 

 

 

 

 

 

 

 

 

 

 

 

 

 

   


